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QUESTION 1

Which three statements are true about maintaining system parameters in Oracle Linux? (Choose three.)
A. echo can be used to change values for various system parameters

B. sysctl -w can be used to change values for various system parameters

C. Changes made using echo are lost after rebooting the system

D. Changes made using sysctl —w are preserved after rebooting the system

E. Changes made to /etc/sysctl.conf take effect immediately after saving the file

Correct Answer: ABD

QUESTION 2

Which two conditions should be met in order to successfully configure an openssh client on Oracle Linux?
A. The openssh-server package must not be installed.

B. The openssh package must be installed.

C. The sshd daemon must not be started.

D. The openssh-client package must be installed.

E. The ssh-agent must be started.

F. ssh keys must be generated by any user using the ssh client.

Correct Answer: BD

To connect to an OpenSSH server from a client machine, you must have the openssh-clients and openssh packages
installed on the client machine.

QUESTION 3

Examine the extract of the /etc/nologin file and the /etc/pam.d/login file on serverl:
[root@serverl ~] # cat /etc/nologin bob smith [root@serverl ~] # cat /etc/pam.d/login
account required pam_nologin.so account include system-auth

Which statement is true about users?

A. Only the root user can log in to the system.
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B. Only users root bob and smith would be unable to log in to the system.

C. All users, including the root user, would be permitted to log in to the system.
D. All users, including the root user, would be unable to log in to the system.
Correct Answer: A

auth required pam_nologin.so -- This is the final authentication step. It checks whether the /etc/nologin file exists. If it
exists and the user is not root, authentication fails.

*

The /etc/nologin file contains the message displayed to users attempting to log on to a machine in the process of being
shutdown.

the login program defines its service name as login and installs the /etc/pam.d/login PAM configuration file.

QUESTION 4

The user scott tries to create a directory hierarchy under a specific directory location and encounters an error:

[soott@zerverl tmpl$ mkdir test/testl/stored/all

mkdir: cannct create directory ‘test/testl/stored/all’: Nc such file or
dirsectory

[zoottl@asrverl tmp] Spwd

/tmp

Which command must scott use to create the directory hierarchy successfully? (Choose the best answer.)
A. mkdir /test/test1/stored/all

B. mkdir —r test/test1/stored/all

C. mkdir —p test/test1/stored/all

D. mkdir R test/test1/stored/all

E. mkdir —r /tmp/test/testl/stored/all

Correct Answer: C

QUESTION 5

You want to convert an rpm packages file into a standard format as part of a shell script and then manipulate the
contents.
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Which archive format is used by rpm?
A. cpio

B. tar

C. bzip2

D. gzip

E. zip

Correct Answer: A
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